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Economic Growth
- Measuring Growth
- A measure of an increase in real gross domestic product (GDP)
- GDP is the total value of goods and services produced in a country in one year, or the total amount spent, or the total amount earned
- Real values mean that inflation has been taken into account
- Potential Economic growth is a measure of the increase in capacity in an economy, shown by an outward shift in the PPF curve
- It measures how efficient the economy is in using its resources
- If an economy has 2 consecutive quarters of negative growth then it is in recession
- UK went into recession in 2008, and another slowdown, but not recession, in 2012
- A recession means there is less spending, income and output in the economy 
- Usually leads to firms closing, greater unemployment and a fall in living standards
- Changing Living Standards
- An increase in GDP is likely to cause an increase in standards of living 
- This means people can afford more goods and services, or feel their lives are better as they don’t need to work as hard to achieve their requirements in life
- Standard of living is a measure of the quality of life. Can include physical assets and consumption, but also happiness, stress levels, hours worked 
- A rising income doesn’t always make standards of living rise
- Depending on how extra money is distributed, whether inflation is being taken into account, the amount spent on investment and long-term socially beneficial projects
- If there is a greater population then the increased income has to be spread out between more people an so it’s better to analyse GDP per Capita
- GDP per capita (per head) is total GDP divided by total population
- Growth in different countries
- Increase in GDP of 10% in a country does not mean that the country is increasing living standards faster than a country with an increase of 5%
- Growth rates depend on:
· How much output is self-consumed so does not appear as GDP
· Methods of calculation and reliability of data
· Relative exchange rates
· Type of spending by government
· The size of the economy originally 
- Quality of life measures living standards whilst taking into account more than just income or GDP 
- Volume vs Value
- An increase in volume of output does not always mean an increase in the value of output
- Volume of output measures the number of items produced, but if these are falling in price then value may even fall when volume rises
- Purchasing Power Parities
- Used to compare GDP in different countries and compare the cost of a basket of goods that could be bought in each of the countries
- The PPP exchange rate is the rate where the same basket of goods costs the same in each country
- Gross National Income (GNI)
- Measures the income received by a country both domestically (GDP) and net incomes from overseas
- GNI and GNP measure output from the workers and companies of a particular nation, regardless of the country the income earners are based in
- National Happiness
- An alternative measure of standards of living in a country which measures national wellbeing
- Surveys attempt to measure subjective happiness along with traditional measures such as real incomes
- Subjective Happiness is a measure of how people feel about themselves
Inflation 
- Inflation is a sustained rise in the general price level 
- It is a weighted average of spending of all households in a country 
- Changes in the Consumer Price Index (CPI) are used as the measure of inflation used for inflation targeting in the UK
- The CPI does not include housing costs such as rent payments and mortgages
- Changes in the Retail Price Index (RPI) include housing costs, and may be used in data for comparison with CPI
- Deflation is a fall in the general price level and is a sign of stagnation in an economy
- Disinflation occurs when prices rise more slowly than they have done in the past 
- Calculating the rate of Inflation
- The price level is measured by the consumer price index
- Housing spend different amounts on various items and this must be incorporated into calculations in order to fully reflect the cost of living
- Weights show the proportion of income spent on items and are used to ensure that percentage change in price reflects the impact on an average family’s spending
- Weights are used to show the proportion of income spent on each item
- A price survey is collected each month about changes in prices of the most commonly used goods and services from a variety of retail outlets
- The price changes are multiplied by the weights to give a price index; this is used to calculate inflation
- Causes of Inflation
- Demand-Pull Inflation
· Occurs when Aggregate Demand in the economy increases
· Can be because interest rates have fallen, levels of confidence have risen, governments are spending more, or exports have risen relative to imports 
· All of these changes will have multiplier effects which can cause upward pressure on prices
- Cost-Push inflation
· Occurs when aggregate supply decreases
· Can be because the exchange rate has fallen or because the minimum wage has risen in real terms
- Growth in the money supply
· Some economists argue that inflation is mainly caused by increases in the money supply
-The effects of Inflation
- Inflation is an important measure of the success of an economy, rates that are too high or low are a sign the economy is experiencing problems
- The UK has an inflation target of 2% per annum, the Monetary Policy Committee are tasked with this objective
- Inflation is damaging for an economy for several reasons:
· Inflation above 3% may significantly damage international competitiveness, makes exports expensive and imports cheap, tends to worsen the BoP
· Damaging for people on fixed incomes, if incomes don’t rise in real terms then people will be progressively worse off
· Inflation is damaging to workers if the rate of inflation is higher than their nominal wage rises
· High inflation rates might make the Monetary policy committee decide on a rise in interest rates, known as tight monetary policy and can have damaging effects
· Inflation can be damaging to the government because it makes it look as if its unable to control the economy, inflation can be good though if there is high levels of national debt as debt does not change in its nominal value when there’s inflation
- Tight monetary policy is when the interest rates are kept high because of inflationary fears
Employment and Unemployment
- Employment 
- Can be measured as a level (number of people in work) or as a percentage (number of people in work divided by the total number of people who are economically active, x100)
- Those people who are not available to work, such as students or carers are referred to as economically inactive
- Unemployment
- Unemployment can be measured as a level (number of people looking for work but unable to find it) or as a percentage (number of people out of work divided by the number of people who are economically active, x100)
- Types/causes of unemployment:
· Cyclical – where lack of spending in the economy means that people are out of work, common during a recession
· Structural – Where industries are in decline and workers skills are becoming obsolete
· Frictional – Where people are between jobs
· Seasonal – Where people are out of work for some periods of the year eg. Ski instructors
· Classical or Real Wage inflexibility – Where there are problems with the supply side of labour eg. When the minimum wage is too high
- Costs of unemployment:
· Costs to the person without an income
· Non-income costs to the unemployed person, skills become obsolete, loss of confidence
· Costs to firms as people don’t spend as much in shops
· Costs to governments as they have to spend more on jobseekers allowance and they receive less in income tax and other taxes
- Measures of unemployment
· The ILO measure (by the Labour force Survey) asks people if they have been out of work in the last month and whether they are ready to start in 2 weeks
· The Claimant count records people who are successfully claiming job seekers allowance
- Underemployment
- Underemployed people have jobs but they don’t offer them enough hours
- Underemployed people are not taken into account by unemployment figures
- Benefits of increased employment 
· Increased incomes with rises in standards of living
· Improved skills of workers
· Multiplier effects as increased incomes lead to increased spending -> profit
· Higher Government taxation revenue as more people pay tax and more spending increases VAT tax revenue
- Benefits of decreased unemployment
· Fall in government spending on JSA
· Exponential benefits to people who become less employable with long term unemployment
· The job market becomes more flexible
· Decreased dependency ratios of unemployed on employed
- Migration
· People are searching for work or better paid work
· Study abroad
· Escape social or political problems in a country 
· Accompany family members
· People that want to leave or go to certain people or places
- If immigrants come to a country and fill vacancies, then immigration leads to an increase in employment
- If immigrants don’t find work or displace other people then employment may remain unchanged or unemployment may rise
Balance of Payments
- It is a record of international payments over the course of a year
- The Current Account
- Records payments for transactions between countries in the present year
- Comprises of:
· Trade in goods
· Trade in services
· Investment income (interest, profit and dividends)
· Transfers eg. Tax payments to foreign governments
- Current Account Deficit
- Caused by:
· The currency being too strong compared to other countries
· High rates of inflation relative to other countries
· High wage costs relative to other countries
· High level of growth in a country 
- Current Account Surplus
- Caused by:
· Currency too weak relative to other countries
· Low rates of inflation relative to other countries
· Low wage costs relative to other countries
· Low level of growth in a country
- International Trade
- International trade means that countries as interdependent 
- Rely on each other for income (exports are part of their AD)
- Rely on each other for resources and goods and services 
- Some people argue that interdependence is beneficial because it makes countries cooperate with each other
- But it can also cause trade blocs to become powerful, which leaves developing countries unable to trade fairly
Aggregate Demand
- Characteristics of AD
- Made up of the following components (C+I+G+(X-M))
· Consumption (C) + Investment (I) + Government Expenditure (G) + Net Trade (Exports (X) – Imports (M))
- AD is the total amount of planned spending on goods and services at any price level in an economy
- Features of the AD curve
· Can be straight line or curve
· Total expenditure by the economy remains much the same along the curve, so when price falls people buy larger amounts but still spend the same 
· Higher prices can’t be avoided by buying cheaper alternatives so the area under the AD curve remains approx. the same whatever the price level
- Movement ALONG the AD curve
· When there are changes in the price level caused by factors not related to AD Eg. Changes in AS
- Movement OF the AD curve
· Shifts when one of the AD components changes (C,I,G,X,M)
· Size of the change depends on the multiplier effect
- Increase in AD causes an increase in average level of prices and real output
- Decrease in AD causes a decrease in average price level and real output
- Consumption (C)
- Spending by households on goods and services, the main component of AD (65%)
- Determinants of consumption:
· Interest Rates – Increase means it costs more to borrow and more money can be earned by leaving it in a bank
· Consumer Confidence – Feeling secure about jobs and prospects of future economy leads to increase in spending especially on big items like cars etc
· Wealth Effects – Increase in share or house prices means households are willing and able to spend more
· Level of Employment – Higher the level of employment the more that will be spent in a country 
- Investment (I)
- An increase in the capital stock
- Main influences:
· Rate of economic growth – Increase in Real GDP means firms will need more capital to meet the increased demand
· Confidence levels – If a firms thinks they’ll sell more in the future they are more likely to invest today 
· Interest rates - ^ interest rates leads to v investment due to cost of borrowing
· Animal spirits, Risk, Access to credit, Govt. decisions
- Gross investment – The total amount of investment before any account is taken of depreciation of assets
- Net investment – Takes into account the fall in value of capital assets
- Government Expenditure (G)
- Govt.’s choose how much they spend and deliberately manipulate total spending in the economy by changing their own level of spending (discretional fiscal policy)
· Govt. does not have to balance its books in the short run
· Spending more than they earn = Fiscal or budget deficit and increases AD
· Spending less than they earn = Fiscal or Budget surplus and decreases AD
· Govt. spends more in recession and less during a boom
· Many govt.’s deliberately change taxes and benefits in order to influence the level of AD
- Net Trade (X-M)
- In the UK this is negative as the outflow for foreign goods is greater than the inflow from domestic goods
- Causes of change:
· Real Income – Inc. incomes reduces the incentive for domestic firms to export as they can sell the goods in the UK
· Exchange Rates – Inc. exchange rates net exports fall as exports become less competitive abroad and imports become more competitive domestically
· Changes in World Economy – Value of UK exports is heavily dependent on growth rates around the world
· Degree of protectionism
· Non price factors 
Aggregate Supply (AS)
- The amount that all firms in the economy are willing to supply at various price levels 
- Based on the costs of production and incorporates rent, wages, interest and profits
- Firms will increase supply with price rises up to a certain point of full employment 
- If costs of production rise, AS shifts left + upwards so decreases
- If an economy can increase output without significant increase in costs, then there is spare capacity 
- There are therefore unused resources in the economy meaning some unemployment
- Keynesian approach – The economy can be at equilibrium when there is spare capacity
- Classical approach – If there is spare capacity in the economy then it cannot be at equilibrium 
[image: Image result for increase in AS]- Movements along the AS curve occur when AD shifts and the price level changes 
[image: Image result for decrease in AS]- Inc. in AD means AS will expand and firms produce more	
- Dec. in AD means AS will contract and firms will produce less	
- Many changes that may make firms want to supply less or more at a given price level
- Dec. costs mean inc. AS and vice versa 
- Short Run AS
- Causes of a shift in SR AS
· Cost of Raw Materials
· Levels of International trade
· Exchange Rates
· Tax Rates
- These changes mean firms have a change in the costs of their production, but no change in the total amount they are willing and able to make 
- Long Run AS 
- Causes of a shift in LR AS
· Technological advances
· Relative productivity changes 
· Education and skills changes 
· Demographic changes and migration 
· Competition policy and regulation changes 
· Changes in the minimum wage
· Changes in the tax and benefit system
- These changes mean there is a change in the productive capacity of an economy, or that the economy can produce more at any given price level 
National Income 
- National income is the amount received by various agents in an economy
- It is the same as GDP measured by households, firms and government 
- Same as total spending by households, firms and government and gross domestic incomes
- Assumes that leakages and injections have been taken into account
- National income is a flow of money, movement of money from one individual to another
- Wealth is a stock of assets in an economy eg. Factories or land 
- Income is a flow of money eg. wages
- Strong correlation between income and wealth, increased value of wealth can lead to increased spending eg. Rise in house prices
- Injections
- Changes to the flow of income occur when there is a change in one of the 3 injections into the circular flow of income
- Investment (I) – An increase in the capital stock (assets)
- Government Expenditure (G) – Where the government buys goods and services
- Exports(X) – Where people abroad buy domestically produced goods and services
- If a firm invests in a new machine, there is increased spending in the economy as the machine has to be made, which in turn means a greater number of incomes
- Withdrawals
- Leakages out of the circular flow of income
- Occurs when money is not re-spent within the economy as its being withdrawn or pulled out from the circular flow 
- Savings (S) – When people decide to spend money later rather than now 
- Tax (T) – When the government demands your money you can’t spend it
[image: Image result for circular flow of income]- Imports (M) – When we buy goods and services from abroad, our money flows out of the country 





- The Multiplier
- Shows the amount by which a change in an injection or leakage causes total spending to change, the result of income being re-spent in the economy
- Multiplier ratio shows how much of an impact an initial injection will have on total incomes
- Increased injections into circular flow = Multiplier is larger
- Increased withdrawals from circular flow = Multiplier is smaller
- Marginal Propensities
- Spending money is a Marginal Propensity to Consume (MPC)
· This is the amount that will be re-spent in the economy
- Not spending money and saving it is the Marginal Propensity to save (MPS)
· Multiplier Ratio falls when MPS rises
- Spending money on goods that are taxed is the Marginal Propensity to Tax (MPT)
· The higher the MPT the lower the Multiplier Ratio
- Spending money on goods from abroad is the Marginal Propensity to Import (MPM)
- The Multiplier is 1 / (1-MPC) or 1 over the Marginal Propensity to Withdraw
· As    MPC + MPS + MPT + MPM = 1 
- Can also be calculated as 1 / (MPS+MPT+MPM)
- Every time AD shifts or there is a change in an injection into the CF then the Multiplier should always be mentioned
- The increase in total spending depends on how much is left for spending in the economy when all the leakages are taken out
- The Multiplier magnifies exogenous changes, these are changes that arise outside the system
- The Multiplier magnifies the changes on the economy as a whole, the larger the multiplier, the greater the impact of any changes in injections or leakages
- Every time AD shifts, it must shift an extra bit further due to the multiplier
Economic Growth
- Causes of Growth
- Occurs when there is an increase in AD or AS meaning there is a new equilibrium output at a level where more is produced 
· Occurs with multiplier effects if it’s a shift in AD
· If AS is vertical then when AD shifts there will be no growth, meaning it cannot grow beyond full capacity
- AD Shifts
- Increases when something causes any of the components of AD to increase
- Increase in Consumption (C):
· Cut in interest rate reduces Opp. cost of saving and cost of borrowing to invest falls, lead to fall in cost of mortgage payments so people have more to spend
· Increase in confidence 
· Wealth effects from rising house or share prices
- Increase in Investment (I):
· Firms invest more when the cost of borrowing falls (interest rates cut)
· Increase in confidence of firms, if firms predict growth they are more likely to invest
- Increase in Government Spending (G)
· Governments can use fiscal policy to stimulate the economy 
· This involves investment in infrastructure for example when the rest of the economy is lacking in AD
· This is only Keynesian and classical economists argue it only causes inflation or debt
- Increase in net exports (X-M)
· Stimulated through export led growth
· Exports stimulated by: Holding the exchange rate down, Reducing tariffs and quotas, and Encouraging productivity and efficiency in export markets
- Output Gaps 
- They are a sign that a country is not using its resources efficiently 
- Occur because:
· Resources available are not suited to the needs of the economy 
· The Welfare system pays generously for some people to not work
· Effects of relocation of production to other countries
· Increased competitiveness of other countries
· Structural changes meaning the economy no longer produces output that is tailored to the needs of the market
- A negative output gap exists when actual growth rates are below potential growth rates
- A positive output gap occurs when growth rates are higher than the economy can sustain, this is a temporary situation and cannot be sustained in the LR
- Difficult to measure positive and negative output gaps as we cannot tell what the potential level of output is, only actual output is known
- Potential level depends on the spare capacity, and without trying to use the spare capacity, we do not know what the economy can produce
- Trade (Business) Cycle
- Economic growth changes at different speeds, and there is a pattern that can be observed over time
- Involves a Boom (rapid growth) and a Slump (very slow growth) or even a Recession (2 consecutive quarters of negative economic growth) eg. UK in 2008
[image: Image result for trade cycle diagram]- Between Boom and Slump there is a slowdown and between Slump and Boom there is a recovery
- Characteristics of a Boom
- High employment, Increasing living standards, increased investment, but sometimes inflation – widening inequality and negative externalities
- Characteristics of a Recession 
- Unemployment or underemployment, lower or stagnant living standards, but sometimes lower inflation – narrowing both inequality and negative externalities
- Absence of causes of growth are useful as an evaluation tool when trying to explain a recession, Factors like:
· Lack of investment funds or cash to run businesses
· Weak or obstructive governments
· Currency instability or a fixed/too high Exchange Rate
· Lack of human capital
· Lack of access to International trade, or policies of protectionism such as high tariffs
- Impacts of Economic Growth
- Benefits of Growth 
- Increased incomes and standards of living 
· Total income is increasing and as long as inflation isn’t increasing at the same rate some people will be better off, can widen the gap between rich and poor
- Increased profits for firms
· Shareholders get increased returns, firms making inferior goods will suffer 
- Governments benefit in a boom
· More people are working and paying tax, fewer people need welfare benefits, governments see this as a time to reduce the income gap – pensions can inc.
- Current and future living standards improve
· People out of poverty, developing countries get foreign investment, foreign currencies flow into an economy and improvements in infrastructure seen
- Costs of Growth
- Environmental damage
· Increased carbon and fuel emissions from increased production etc
· EV- Higher incomes can mean there is more money to clear up environmental damage, catalytic converters, restrictions on fossil fuels, use or renewables
- Balance of Payment problems
· Higher incomes mean people can afford to import more, need for firms to export is no longer so great as high profit margins from selling at home, X falls and M rises having a negative effect on BoP
· EV- Export led growth will improve the BoP
- Widening income distribution
· Economic growth usually means those on high incomes reap the benefits
· EV- With continued growth, workers may eventually see a pay rise, especially if there’s a shortage of workers that cannot be replaced by machinery
- Opportunity costs of growth
· To get growth an economy must give up other objectives like foreign aid or welfare aid, not recorded as growth but may have a greater value in terms of improving the standards of living
· EV- Opportunity cost of growth is hard to measure, as we cannot know what would’ve happened if the other policy had been used
- Current and future living standards
· Increased growth can lead to air and noise pollution, overcrowding and stress
· Many who benefit from growth wish to return to the simple life, but would not give up the money they’ve received, it is arguable economic growth improves people’s lives
- Macroeconomic objectives and policies
- 7 Major Objectives
1. Economic Growth
2. Reduced Unemployment
3. Control of Inflation
4. Equilibrium in Balance of Payments
5. Fiscal Balance
6. Protect the Environment
7. Equal Distribution of Incomes
- Priority is given to different policies by different governments
- Any policies adopted by governments are likely to impact other objectives
- Therefore governments must choose which are the most important polices, this will determine the Opportunity cost in terms of other policies or objectives
- Demand-Side Policies
- 2 types:
· Monetary Policy – The manipulation of monetary variables in order to achieve government objectives
· Fiscal Policy – The manipulation of government spending and taxation in order to change AD
- Monetary Policy Instruments
- Involves the setting of monetary variables, most importantly the interest rate and quantitative easing (QE)
- Interest Rate
· If AD needs to decrease, the interest rate will increase and AD will shift left
· If AD needs to increase then interest rates are cut and AD will shift right
· There are multiplier effects increasing the impact of the change 
· In UK, interest rates are set by the Monetary Policy Committee (MPC) that meets monthly to discuss factors that will cause prices to change 
- Asset Purchases
· After 2008 many monetary authorities found that the interest rate alone could not stimulate AD, they therefore purchased long term assets in money or capital markets and that increases demand for the assets
- Fiscal Policy Instruments
- Can involve a government running a budget or fiscal deficit, where G is greater than revenue from T, this has an expansionary effect on AD with multiplier effects
- Can involve a government running a budget or fiscal surplus, where G is less than T which has a contractionary effect on AD with multiplier effects
- 2 types of tax:
· Direct – on incomes (income tax, corporation tax)
· Indirect – on spending (VAT)
- Impact of tax changes depends on which type of tax is charged
- Increased direct tax reduces incentives to work hard and earn money
- Increased indirect tax increases the cost of living, especially for those on low incomes as the tax paid will be a higher proportion of income than others
- Strengths of Demand-Side Policies (Keynesian only)
· Only way to get a country out of demand deficient unemployment in SR
· If multiplier is large, they have a significant impact on growth 
· If there is spare capacity the economy can grow quickly
· If used to control demand-pull inflation, they can act quickly and solve the problem 
- Weaknesses of Demand-Side Policies
· Expansionary demand-side policies only cause inflation in the LR
· The Multiplier might be so low it has little effect
· If there is no spare capacity, supply side policies are needed instead
· The government can end up running a huge deficit, which adds to national debt and this can become unsustainable
- Supply-Side Policies
- Involve any attempt by the government to shift the AS curve to the right
- Types of Policies:
· Cutting corporation taxes so firms have strong incentives to produce more
· Removing regulations and other restrictions that prevent firms from growing
· Encouraging investment by forcing banks to lend money, or easing credit 
· Increasing competition in markets 
· Privatising or subsidising industries
· Improving the labour market by increasing educational standards
· Productivity can increase with increased investment, such as in the NHS
· Improved incentives for workers with cuts in income taxes and cutting benefits to out-of-work members of the labour force
· Improved infrastructure 
· Introducing measures to make imports cheaper, such as cutting tariffs so firms production costs fall
- Conflicts and Trade Offs between Objectives and Policies
- Trade-offs occur when one objective is achieved at the expense of another 
- Conflict between Inflation and Unemployment
· When the government tries to control inflation it tends to dampen AD
· Less spending = less pressure on price increases
· Increase in taxes or increased interest rates
· Can prevent inflation but result in lower spending
· Workers may be laid off
· Trade-off between controlling Inflation and Unemployment rates
· Can work the other way around, problem shown by the Phillips curve
- Conflict between Economic Growth and Sustainability
· With economic growth, living standards tend to rise
· Economic growth must not occur at the expensive of expense of future generations, or standards of living won’t be sustainable
· Conflict between enjoying a resource today and someone enjoying it in the future
· Most important when considering the environmental impact 
· Governments must make a choice in weighing up the welfare of today’s generations with that of tomorrow to achieve sustainable growth
- Conflict between Inflation and Equilibrium on Current Accounts of the BoP
· Controlling inflation makes a country more internationally competitive and leads to an improvement in BoP
· Exports become cheap and imports expensive
· Controlling inflation should not conflict with dealing with a BoP deficit
· Actions required to control inflation can damage the BoP
· Contractionary fiscal policy can be used to control inflation and tends to improve the BoP as people have less to spend on foreign goods
- Conflicts between Macroeconomic policies
- Conflict between Fiscal and Monetary policy
· Changes in level of spending and taxation by government have a direct impact on decision making of the MPC
· MPC increase interest rates to counter a loose fiscal policy and visa versa
· When fiscal policy means theres an enormous deficit it must be paid for by borrowing
· Financing fiscal policy has an impact on the market interest rate
- Conflict between monetary policy and Supply-side policy
· Changes in interest rates and monetary policy have a direct impact on the costs of firms, therefore shifting the AS curve
· Increased interest rates cost firms more to produce, so firms produce less
· Decreased interest rates cause firms costs to fall and production to increase
- Conflict between Supply-side policy and fiscal policy 
· Changes in most Supply-side policies directly impact government spending
· Improved education increases production but costs a lot
· Increased length of education means governments lose out on income tax compared to if the students worked
· Supply-side policies tend to increase the budget deficit in the SR
· But Supply-side policies can decrease the budget deficit in the LR, as improved human capital means higher incomes that can be taxed
· Some supply-side policies won’t affect government spending and taxation
· Privatisation and cutting benefits (Supply-side policies) will reduce the budget deficit 
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